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_F #H H-KH

O XD HEXZRET,

@ x+2=5 ® x-8=25
x+2-2=5-2 r—-8+8=25+8
r=3 x=33

® z+7=16 @ 3+x=12
x+7-7=16-7 3+x-3=12-3
r=9 x=9

® x-5=17 ® x-8=9
r-5+5=17+5 r—-8+8=9+8
x=22 x=17

@ 8x=-56 —9x=-27
8r+8=-56+6 -9x+(-9) =27+ (-9
r=—/ r=3

@ -3--8 L8
—%x(—3)=ﬂ9x(—3 %x6:—8><6
x=24 xr=-48

7] '.EE%

O XD HEXZE/ET,

@ x+4=13 ® x-7=8
x+4-4=13-4 x—7+7=8+7
r=9 x=15

@ 8+x=14 @ x-5=8
8+x-8=14-8 r-5+5=8+5
r=6 x=13

® x+6=11 ® x-11=3
x+6-6=11-6 x—11+11=3+!1
r=5 x=14

@ 5x=45 —6x=42
bx+5=45+5 —6x+(-6)=42+ (-6,
x=9 x=-7

@ 7=8 -2 -9
ZXT7=8x7 —%x(—3)=9x(—3
x =56 x=-27
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1|

O XD FEXZH/ET,

D x+5=9 ® x-7=8
x+5-5=9-5 x—7+7=8+7
xr=4 x=15

@ 9+x=7 @ x-2=8
9+x-9=7-9 x—2+2=8+2
x=-2 x=10

® r+4=13 ® r-8=17
x+4-4=13-4 x—8+8=17+8
r=9 x=25

@ 8x=56 —4x=36
8r+8=56+8 —x+(—4)=36+ (-4,
x=7 x=-9

@ 7-=8 L-7
%x5=8><5 —%x(—3)—7x(—3
x=40 x=-21

O XD HEXZE/ET,

® z+7=3 @ x-10=26
x+7-7=3-7 x—=10+10=26+10
r=-4 x=36

@ x+6=22 @ 4+x=13
x+6-6=22-6 4+x-4=13-4
x=16 r=9

® x-8=15 ® x-9=2
r-8+8=15+8 x-9+9=2+9
x=23 x=11

@ 6x=-36 —5x=—45
6x+6=-36+6 —5x+(-5)=—45+ (-5
r=- x=9

@ -5 =-9 L7
—% X (-8)=-9x(-8 L x4=-7x4
x=72 xr=-28
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% O E-RKHA

O RDFERXZRET

@ x+7=10 @ x—4=5
x+7-7=10-7 x—4+4=5+4
r=3 x=9

®6+x:15 @x—8:7
6+x-6=15-6 r—8+8=7+8
=9 x=15

® x+5=19 ® r-9=3
x+5-5=19-5 x-9+9=3+9
x=14 x=12

@ 4x=12 —5x=20
dx+4=12+4 —b5x+(-5) =20+ (-5
x=3 x=—4

@ §=5 ~Z -4
%x3=5x3 —Z X (=7)=4x(-7,
x=15 x=-28

1] b .EE%

O XD HEXZE/ET,

® x+5=13 ® x-6=9
x+5-5=13-5 r—6+6=9+6
r=8 x=15

@ x+3=21 @ 8+x=12
x+3-3=21-3 8+x-8=12-8
x=18 x=4

® x-7=6 ® r-4=16
x—7+7=6+7 x—4+4=16+4
x=13 x=20

@ 7x=-42 —9x =54
Tx+7=-42+7 -9x+(-9) =54+ (-9,
r=-6 x=-6

@ 7=6 £-3
£ x5=6x5 —5 X(-8)=-3x(-8
x=30 x=24




